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Cut off for me the nX°> of a minor boy — JUp 90 BPR

OVERVIEW

One of the differences between X127 and X»20 27 is where a man told a
woman (who 1s not a X21°11 72, but is in the category of 7°2¥ *¥1 °X) to cut off
the NX°® of a JupP. Our MdOIN explains why the X723 chose the case of cutting
the MX°d of a WP as opposed to a M7

— oyt 99 YOPN 129D 281 NINT TN XYM
And it is equally true that the X713 could have stated the case where he

said to the woman cut off for me the NMX°> on an adult -
— >PNY MY N XY NTHNY NN

However the reason the X713 did not use this other case is because an adult

will not allow that his nIX°2 be cut off. non explains why a %173 would not
permit it:

— 25N PPPA TN G290 TORT (3,5 91 man) PPITN 11 1IN P9 MNINTI
as the Xn™12 states in 72197 37 Y98 P9 that both the np°1 (whose Mx*® are

being cut) and the n°p» (the cutter) are liable for nypo». Therefore since the AP
is (also) 2>°1, he will not allow this to happen. However a child is not aware, etc.

mMooIN anticipates a question:

— 11Na DYDY YHON 992 93 ONN NY IPINT ) DY IN)
And even though the X723 there established this n>™72 (which states that
the 71 is MpPP» 2»1), (only) in a case where the nps: assists the apn;
however, if he does not assist the 7°p» he is not 2°11. The question remains, why does not
our X713 mention a case where he asked the woman to cut the MX°» of a 9173, where the
9173 is not assisting and therefore (seemingly) would not mind.

mooIn replies, that when the X723 there established that the 7p°1 must be assisting, that is
not to be interpreted that when the np°1 is not assisting there is no prohibition, but rather
the reason the Xn>72 is discussing where the Ap1 is assisting -

— YYN 12 PRV IND MNT OPY XY 9NN 193¥2T DIVN 19N
That is because in any other manner (where the Ap°1 is not assisting) the

n>1 will not receive Mmp»» (not because it is permissible, but rather because)

' mooin is explaining that this is not limited to a Jop, but rather it applies in all cases, whether it is a Jop or a
9173, We could have assumed that the n"po1 between 810 2711 X127 is only by Jvp °2 '0pR, but by 2173 *2 *9pX
all would agree that the 7°pn is not 211 (since the 9173 consented), and/or (certainly) that the n>wn will not
be 2»n for since the 71 is allowing this to happen, we will assume that the m°5w is serving the 52°1 and not
the n7wn. Moo rejects this and maintains that the same n"po1 will apply to a 7173,
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it is a transgression without action” -
— ODIYY 923y INDN YaN

However he always transgresses the ¥ even if he is not assisting. Therefore the
X3 could not discuss a case of 7172 °% *0pR, for the 7173 will always refuse to have his
mxoo cut. However if he did say 9173 °% *5pX (and she did it), the same n"po1 will apply

S[RTR 277 ©RRT T9297 2,73 911 NIDDIN JPIN DYY BMNmT 29297 K3 Mpiaw msown 1)

SUMMARY

The difference between X1°27 and X0 27 would be also in a case of 7 "dpX
2172 (just as by jvp °% *9pX); however it is not mentioned since a 2173 would
not allow himself to be cut, even if he is not assisting, for he is always 72w
an Mo°X (and will receive Mpn if he assists in the haircut).

THINKING IT OVER

MooIN maintains that by 9173 °2 *9pX there would be the same n"poi; if we
maintains that ¥"79wx is only if the 75w is a X211 72 then in this case where
the 7WR 1s not a X211 72 (for she is not 7717 for WX NoP) there will be a
7702y 1272 9w and the nwn will be mphn 20, Seemingly however the
woman is a Xa1n 72 in a case of 7173 °% "opR, for she is 72w on W 195
regarding the :173.° How can mpoin assume that she is not a x2vn 722!*

> We generally maintain (except for 7797 ") that 7w 12 1R W2 99 P12 PX.

3 mpon indeed stated in the previous KT 1"7, that if a m%w is w7pn a 7w for a 373, he is not considered a
X211 73, even though he is 921 on MY "9, since if he would be wpn the 7w for himself there is no MR,
and the same seemingly should apply here. However there is a difference. By a 7217 the only reason there
is a 7w "19Y is because he is doing the mm*ow of the nown. If he were doing it for himself (he was w7pn this
same 1WA IWR) there would be no 710X at all (no w173 MO°X and no MR of MY °197), therefore the oW
wpna is not considered a Xarn 72, However here she will be 2w %199 921w even if there were no nown and
she was 7°pn the 9173 on her own. In such a case she should be considered a X211 72 (because of the 199
71w) and therefore the rule of ¥"72wx should apply, so there is no Mo at all and the n>wn should not be
2>°11 for 19°pn RY!

* See 1w M "9
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